FALL 2013 EENG382 EXAM #2

Problem #1 (20 pts)

13.64 a) Usc the convolution mle.y il to find the output
voltage of the circuit in Fig. P13.50(a) if the

input voltage is the rectangular pulse shown in
Fig. P13.64.

b) Sketch w,(¢) versus ¢ for the time interval
0=<:1<10ms.
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FALL 2013

Problem #2 (20 pts)

14,37 Assume the bandreject filter in Problem 14.36 is

loaded with a 1 k() resistor.

a) What is the quality factor of the loaded circuit?

b) What is the bandwidth (in kilohertz) of the
loaded circuit?

¢) What is the upper cutoff frequency in kilohertz?

d) What is the lower cutoff frequency in kilohertz?
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Problem #3 (20 pts)

15.24 Scale the bandpass filter in Problem 14.22 so that
the center frequency is 200 kHz and the quality fac-
tor is still 8. using a 2.5 nF capacitor. Determine the
values of the resistor, the inductor, and the two cul-
olf frequencics of the scaled filter.
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